5-th Nordic Mathematical Contest
April 10, 1991

1. Define the last two digits of the number
25+ 252 + 253 + o + 251991
when this number is written in a decimal system.

2. In a trapezoiddBCD sidesAB andCD are parallel andk is a fixed point on the
sideAB. Define a poinf from a sideCD so that the intersection of triangaBF
andCDE is as big as possible.

3. Prove that
1 N 1 - 1 - 2
22 1 32 n =3

foralln> 2.

4. Let f(x) be a polynomial with integer coefficients. Let us assume thete
exists a positive integdrandk consecutive integergn—+1,....n+k— 1 such
that none of the numbergn), f(n+1),..., f(n+k— 1) is divisible byk. Prove
that the roots of (x) are not integers.

The IMO Compendium Group,
D. Djukic, V. Jankovic, I. Mati¢, N. Petrovit
www.imomath.com

www.imomath.com



